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Esercizio 1
Una base per H è: {h1 = (1, 0,−1), h2 = (0, 1, 1)}. Dunque f = (h1, h2, u) è
una base di R3.
v = (x, y, z) = ah1 + bh2 + cu = (a, 0,−a) + (0, b, b) + (c, 0, c) =

(a + c, b,−a + b + c) =⇒


a = x+y−z

2

b = y
c = x−y+z

2

=⇒ pu(v) = (x+y−z
2

, y, −x+y+z
2

)

Esercizio 2
iniettiva:
N(F ) = {(0, 0)} =⇒ F è iniettiva!
suriettiva:
dim

(
N(F )

)
+ dim

(
Im(F )

)
= dim(R2) ⇒ 0 + rg(F ) = 2 ⇒ rg(F ) = 2 6= 3

F non è suriettiva

Esercizio 3
iniettiva:
N(F ) = {(2

5
t, t, 2

5
t)} ∀ t ∈ R =⇒ dim

(
N(F )

)
= 1 =⇒ F non iniettiva

suriettiva:
rg(F ) = 3− 1 = 2 =⇒ F è suriettiva

Esercizio 4
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Esercizio 5

Mw,v(idR4) =
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 Mv,w(idR4) =
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Esercizio 6
v1 = (1, 0, 0), v2 = (0, 1, 0), v3 = (0, 0, 1) (coordinate nella base v), dunque:
F (v1) = (1, 0, 1), F (v2) = (−1, 1, 0), F (v3) = (0,−1, 1)

Esercizio 7

a. r =

{
x + y = 0
y − z = 0

r =


x = −t
y = t
z = t

b. β = y − z = 0 β =


x = t
y = s
z = s

c. α =

{
x + y + 1 = 0
y − z = 0

α =


x = −1− t
y = t
z = t
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